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QUESTION 1

Which mechanism provides database users with controlled access to the database through the use of virtual tables?
A. View

B. Data dictionary

C. Database control language

D. Database management system

Correct Answer: A

QUESTION 2

Which term describes the rejoining of relations that have been decomposed?
A. Normalization

B. Denormalization

C. Referential integrity

D. Domain constraints

Correct Answer: B

QUESTION 3

Which term describes the management of simultaneous transactions to prevent conflicts?
A. Parallelism

B. Serialization

C. Database control

D. Concurrency control

Correct Answer: D

QUESTION 4
Which of the following occurs in a relation when records are added or removed?
A. The number of domains changes.

B. The attributes in the table change.
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C. The cardinality of the relation is fixed but the degree varies.
D. The degree of the relation is fixed but the cardinality varies.

Correct Answer: D

QUESTION 5

Consider the symbols shown in the exhibit. Which of the following correctly identifies these symbols when used in an
entity-relationship (ER) diagram?

¢ L.

A. 1 = attribute, 2 = entity, 3 = relationship

B. 1 = entity, 2 = relationship, 3 = attribute
C. 1 =relationship, 2 = entity, 3 = attribute
D. 1 = relationship, 2 = attribute, 3 = entity

Correct Answer: C
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